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228150000 [Stwp pEgy | huom 20 100 2000.0
22000000 zwojwwwhwlub dukp PCUZ huwn 7590.0
39000000 Ukipl PCUL Iq 25 1600 40000.0
44921200 Yhp PCUZ Uq 600 100 60000.0
@, nupyuup gulgp Yuukn Juiy

19721200 hundwp PCUZ 25 200 5000.0
19642100 MnihtphiEuk funnp PLUZ u 30 500 15000.0
31321220 Uunifu PCUL u 150 200 30000.0
398360000 Ul PCUZ hwwn 4 1300 5200.0
39831241 O4wn PLUZ hwwn 20 120 2400.0
33760000 Oniqupwith pninp PCUZ hwwn 20 120 2400.0
03411111 Junkjuthw)jn PCUZ funp/u 2 25000 50000.0
37000000 $nunpnihunp dwjljw-pnpn PCUZ nuuy 20 7000 140000.0
37000000 $nunpnihunh ghwph FLUZ qnuq 20 1500 30000.0
37451700 Gl /$nunpnipy/ PLUZ hwwn 6000 30000.0
24959100 Ukpnqn) uynpn PCUZ hwwn 8 4500 36000.0
33141133 Epuuwnhly phtn PLUZ hun 600 3000.0
33000000 Uwlnunfhly PLUZ hwwn 100 10 1000.0
33611430 8nn PCUZ $pulnt 4 250 1000.0
33141115 Pudpuly fLULZ wint 5 200 1000.0




33000000 Swuqpynn hwpkp PLUZ lhuwn 10 300 3000.0
33000000 Upwjuwntingh hwpkp FCULZ 1huwn 2 1500 3000.0
33000000 1-hi oglimpjwil Uwg-911 RCULZ huwn 6 1200 7200.0
33000000 Uwntph) phtin PCUZ huin 8 250 2000.0
Uy dwuukp 9800.0
EiEjwnpnbwght unnpugpnipjwh
79131300 hwwuwnwgpuwh dwnwmipjnih 3000.0
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Jupawlumpnth Jupnpnh htwn
60171000 Uhwuhl 669000.0
70311200 Ywhih&h Jupdwljunipynil wuhu 2 15000 30000.0{ .
642211100 Yuyh dwnwjnipintl withu 12 4500 120000.0




